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DISCRETE MATHEMATICS

-Paper : MA 302
Full Marks : 100
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer any five questions.

1. (@ Define subgroup. Show that a
non-empty subset H of a group G to be
a subgroup of G if and only if

ae H,be H=ab™ € H. 2+8=10

(b) Express the following permutations as |
the product of disjoint cycles
M (123)(45) (16789) (15)
@ (1325) (1 51)

443=7
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(guv)-(anv)=(v-g)n(g-v)
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(b)

(c)

(@)

(e)

Draw a 3-regular graph of five vertices.
2
Prove that the statement
(p—q)— (pagq) is a contingency.
5

If P, is the symmetric group of n
symbols, then show that the alternating
group A, is a normal subgroup of Pp.

6

Find the negation of each of the
following quantified predicates :

@) (@xeD)(x+2=7)

i (vxe D)(x+3<10),

‘where D={1,2,3,4}.
242=4
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